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ACCOUNTING FOR BUSINESS - 1I

AT & A — 11

Time allowed : 3 hours] [ Maximum marks : 60

FreRe @77 : 3 g72] [T 37 : 60

Instructions : Al questions are compulsory. Give working notes wherever necessary.
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1. What is meant by ratio analysis ? 1
3TTaTe fereeteoT <t /T ST ¥ 2

2. Give the meaning of fixed interest rate on housing loan. ‘ 1
X % 670 01 TR T} SA1ST X R 37 ST |
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Name the account which is opened for recording the income derived from various
investments.

fafir=t Tl @ 21 St 3119 1 i@l Y % 60 G S 9ol @1 51 AT <12 |

State any two objectives of cost accounting.

AT TG % Hig 31 32T Ty |

State the meaning of a company.

ST T 37 2T |

What is meant by computerized accounting system ?

AR @R ggra 1 T 7T & 2

Give two examples of each of the following :
(i)  Current liabilities and
(i) Miscellaneous expenditure.

el & v & -7 33T ST
(i) =] IFaTE qen
(i1) fatay =09 |

Calculate Quick Ratio from the following information :

Working capital I 18,00,000; Total debts ¥ 25,00,000; Long term liabilities
T 14,00,000; Stock T 6,00,000; Prepaid expenses T 1,20,000.

frefeIRae e | TRETdT STUrd 2l 0T RITT

FETT TSt T 18,00,000; F& FOT T 25,00,000; I oFafy e T 14,00,000;
wi% T 6,00,000; ga=T 7= T 1,20,000 |

On 31-1-2009 Arun Ltd. purchased 100, 9% debentures of ¥ 100 each of Varun Ltd.
at ¥ 110 each ex-interest. Interest being payable on 1* June and 1** December each
year. Commission paid by each party was 25 paise percent.

Showing your calculations clearly record the above transactions in the Journals
of both Arun Ltd. and Varun Ltd.

31-1-2009 i 3707 fet. & a6 for. & T 100 9@ & 100, 9% Fom9si 1 %7 T 110 ufd
TS AT et AT | sS4 Niaay U ST a7 U fSEE] S o | Wl w8 gy 25 99
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During the year ended 31% December 2010 Janak Ltd. purchased and sold
investments as per details given below :

31" March purchased 7,000, 8% debentures of ¥ 100 each of Jeevan Ltd. at
T 99, brokerage and stamp duty amounted to ¥ 15,000. Interest is payable every year
on those debentures on 1% July and 1% January. 1% May purchased 12,000, 8%
debentures of ¥ 100 each of Jeevan Ltd. at ¥ 93, brokerage and stamp duty being
% 25,000. Interest is payable every year on 1™ July and 1% January. 1* July sold
¥ 5,00,000 debentures of Jeevan Lid. at ¥ 102 less brokerage, etc. I 2,400. These
debentures were purchased on 31% March. 1* October purchased a further 5,000, 8%
debentures of Jeevan Ltd. of ¥ 100 each at ¥ 89, brokerage and stamp duty being
Z 7,400. Interest is payable every year on 1* July and 1* January.

Prepare Investment Account in the books of Janak Ltd. for the year ended
31-12-2010.

31-12-2010 I G9T §T a9 | S Tet. = Frferiiaa frarem s shar e fasea fopan -

31 e i S fot. 3 T 100 T8 3 7,000, 8% ROT9AT 1 35 T 99 ufe Horas T |
TATA T RIh Yok T 15,000 o | 37 UGS WX =757 il 99 U [l ol U e 6l 3
T ¥ | UF 0T I SiteT ot F T 100 7% % 12,000, 8% FHOTIE H T T 93 Nid RO
TohaT T | SEE T R Y € 25,000 A1 | ST Wi Y U o a9l U S S 3
o | U S[ETE i StEq fot. & € 5,00,000 & %oraw, ™€ 31 919 # sa Rean T o,
¥ 2,400 TETel! 31E ek T 102 Ui F070 o f§ar 7 | U ST S Siad o & T 100
TRF & 5,000, 8% TGN T 3R 4 T 89 W AT TN | TATCA AT ik Yok T 7,400 T |
TS AT 9 T STeTTs ol U STt i 39 97 |

31-12-2010 =l FATA §T a9 3 [oTT 59k fet. St TRaiohl § {191 W §150 |

What is meant by ‘cost’, ‘expense’, and ‘loss’ ?

Explain the exemptions and privileges available to a private company.

U ST e oht e et e foreiy stfushRi i ey |
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From the following Profit and Loss Account of Beena Ltd. for the year ended

31-3-2010, calculate (a) Net Profit Ratio and (b) Operating Ratio. 4
Particulars Am;)unt Particulars Am;)unt
To Opening Stock 1,00,000 | By Net Sales 5,60,000
To Purchases 3,50,000 | By Closing Stock 1,00,000
To Wages 9,000
To Gross Profit ¢/d. 2,01,000
6,60,000 6,60,000
To Administrative Expenses 20,000 | By Gross Profit b/d. 2,01,000
To Salary 89,000 | By Interest on Investments 10,000
To Non-Operating Expenses 30,000 | By Profit on sale of 8,000
investments
To Net Profit 80,000
2,19,000 2,19,000
31-3-2010 FT 9 g€ 99 & ferw & e, & Fraferaa omv-aif @ € (%) 3 &y ST
AT (T) FRTET SR ! TOTHT T
ARFS R 1,00,000 | 31 s 5,60,000
E2 3,50,000 | af~m =i 1,00,000
T 9,000
T T L. 2,01,000
6,60,000 6,60,000
ERISEERSE] 20,000 | |eFeT @ L. 2,01,000
I 89,000 | a1 W =17 10,000
I = 30,000 | e = fesha W omw 8,000
5 oY 80,000
2,19,000 2,19,000
14. Explain the different facilities provided by the banks under ‘Demat Services’. 4
e Qe 3 Tt dt T < ST el ffur et e |
Describe any four features of a Joint Stock Company. 4

15.

232/1

e it S o fopeel I faeiedrett s wwemRT |




16. Explain any two types of Accounting Softwares.
AR TFAI F [l &1 THRI H THART |
17. How would you use a payroll system ? Explain with the help of an example.
AAIT UgTel ST SUGNT 3719 8 H3) 7 TH TR0 ! T@TEA § I |
18. Describe the following :
(a) Multi Option Deposit Account and
(b) NRI Banking
frafaRad =1 9 it :
(%) fara= foepea st @TeT T4
(@) ervErdr R ST
19. Prepare a Cash Flow Statement of X Ltd. on the basis of the Balance Sheets of the
company as on 31-3-2009 and 31-3-2010 given below :
Liabilities 31-3-2009| 31-3-2010 Assets 31-3-2009| 31-3-2010
3 3 3 3T
Share Capital 1,50,000 | 1,60,000 | Goodwill 4,000 3,000
General Reserve 20,000 — | Land 43,000 67,000
P&L Alc. 11,000 19,000 | Machinery 60,000 80,000
Pro. For Income Tax 4,000 11,000 | Debtors 55,000 45,000
Creditors 5,000 4,000 } Preliminary 3,000 2,000
Expenses
Bills Payable 5,000 5,400 { Cash 30,000 2,400
1,95,000 | 1,99,400 1,95,000 | 1,99,400 6
OR
Given below is the summary of Cash transactions of Y Ltd. for the year ended
31-3-2010.
Dr. Cr.
Particulars Am;)unt Particulars Am;)unt
To Balance b/d. 1,00,000 | By Purchase of fixed assets 4,00,000
To Equity share capital 6,00,000 | By Suppliers 40,00,000
To Cash sales 56,00,000 | By Overhead expenses 4,00,000
To Fixed assets 4,00,000 | By Salaries 12,00,000
By Income tax 25,000
By Dividend 40,000
By Bank loan 6,00,000
By Balance c/d. 35,000
. 67,00,000 67,00,000
Prepare a Cash Flow Statement.
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31-3-2009 &7 31-3-2010 & 0 1. & Fr=feriaa fufa faexon @ Uwe vawE faetor 9ar |
SHITT ;

Tt 31-3{-‘2009 31-3%2010 Tt 31-3?-2009 31-3?-2010
39T qoh 1,50,000 | 1,60,000 | =nia 4,000 3,000
T G2 20,000 - | g 43,000 67,000
[gliC I REIGH 11,000 19,000 | =it 60,000 | 80,000
ST AT 4,000 | 11,000 | &ER 55,000 45,000
TR 5,000 4,000 | SIRMH =5 3,000 2,000
= foret 5,000 5,400 | AFT 30,000 2,400
1,95,000 | 1,99,400 1,95,000 | 1,99,400
YT
31-3-2010 St THIE Qa9 & 670 12 Fe. & A8 Sl BT QRie Frefeaa ¢
Dr. Cr.
faror e feaor i
3 k¢
I AL 1,00,000 | Tl grafaai 1 %3 4,00,000
o 3% e 6,00,000 | sTgfaear 40,00,000
EUCACER 56,00,000 | Iufvera 4,00,000
Tl et 4,00,000 | Sre= 12,00,000
CIRETY 25,000
I 40,000
EERE| 6,00,000
T A, 35,000
67,00,000 67,00,000
g HaTE FaroT §1e |
20.  From the following information for the year ended 31-3-2010 prepare a cost sheet of
Raghav Ltd.
4
Opening stock of raw materials 14,000
Raw material purchased 1,40,000
Closing Stock of raw material 9,000
Direct wages 60,000
Direct expenses 11,000
Factory overheads 100% of direct wages.
Office and administrative overheads 20% of
works cost. o
Selling and distribution overheads 30,000
Cost of opening stock of finished goods 17,000
Cost of closing stock of finished goods 19,000
Profit on cost 20%

OR
Explain the important characteristics of a good cost accounting system.
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31-3-2010 Sl WA gT A % foTg Frfeiad gamr ¥ Tea . 1 e foreror 91T

4

e HTeT T SRR ih 14,000
T |6l T 1,40,000
Fed WA T AT L 9,000
TR TG 60,000
e S 11,000
FREMHT ITNEET-HTT TG 1 100%
FATCAT TAT A STREII—HRET AT = 20%
Torra wren ToaRvT Ui 30,000
TR AT & TR Wk o T 17,000
TR 91T T SATH i T AT 19,000
T 9L AT 20%

AT

T ST ATT IR TOTeH! Shi HEwaqol fasieensii sl SHaey |
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